Puissances de Dix (C)

Trouvez chaque produit ou quotient.

85 x 0,01 = 90 x 0,1 =
16 x 100 = 29 x 10 =

62 +0,1= 75 x 100 =
89 x 0,01 = 57 x 0,1 =
92 x 100 = 75+ 0,01 =
56 ~1= 72X 1=

76 = 0,01 = 42 +10 =

92 =+ 0,001 = 94 x 0,1 =
80 X 10 = 61 x0,1=
68 X 100 = 65+ 0,1 =
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Puissances de Dix (C) Solutions

Trouvez chaque produit ou quotient.

85x 0,01 =0,85

16 x 100 =1 600

62+ 0,1 =620

89 x 0,01 =0,89

92 X 100=9 200

56 +~1=56

76 +- 0,01 =7 600

92 +-0,001 =92 000

80 x 10 =800

68 X 100 =6 800

90%x0,1=9

29 x 10 =290

75 x100=7500

57x%x0,1=5,7

75+0,01=7500

72X1=72

42 +-10=42

94 x0,1=9,4

61x0,1=6,1

65+ 0,1 =650
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